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BOOKS - KALYANI MATHS (ASSAMESE

ENGLISH)

PROBABILITY

Example

1. A number is selected from first 100 natural

numbers. Find the probability that the number

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_clkwmBtYZCV9


is divisible by 7.

Watch Video Solution

2. A die is thrown once what is the probability

of getting a prime number?

Watch Video Solution

3. A letter of English alphabet is chosen at

random. Determine the probability that the

chosen letter is a consonant.

https://dl.doubtnut.com/l/_clkwmBtYZCV9
https://dl.doubtnut.com/l/_iiqqCKBixyyD
https://dl.doubtnut.com/l/_9f2yjBjsX2Yt


Watch Video Solution

4. A lot consists of 144 ball pens of which 20

are are defective and the other are good. Nila

will buy a pen if it is good, but will not by if it

is defective. The shopkeepers draws one pen

at random and given to her. What is the

probability that She will buy it.

Watch Video Solution

https://dl.doubtnut.com/l/_9f2yjBjsX2Yt
https://dl.doubtnut.com/l/_CzhKIbC51eEb


5. A lot consists of 144 ball pens of which 20

are defective and the other are good. Nila will

buy a pen if it is good, but will not buy if it is

defective. The shopkeepers draws one pen at

random and given to her. What is the

probability that She will not buy it.

Watch Video Solution

6. A box contains 90 discs which are numbered

from 1 to 90. If one disc is drawn at random

https://dl.doubtnut.com/l/_KGWNdhRdxaPw
https://dl.doubtnut.com/l/_CaRnxGdCw7J7


from the box, find the probability that it bears

a two digit number.

Watch Video Solution

7. A box contains 90 discs which are numbered

from 1 to 90. If one disc is drawn at random

from the box, find the probability that it bears

a perfect square.

Watch Video Solution

https://dl.doubtnut.com/l/_CaRnxGdCw7J7
https://dl.doubtnut.com/l/_OyyXSR18Yppo


8. A box contains 90 discs which are numbered

from 1 to 90. If one disc is drawn at random

from the box, find the probability that it bears

not a perfect square.

Watch Video Solution

9. A box contains 90 discs which are numbered

from 1 to 90. If one disc is drawn at random

from the box, find the probability that it bears

(iii) a number divisible by 5.

https://dl.doubtnut.com/l/_V5fTEtxoMOlv
https://dl.doubtnut.com/l/_zbTQ6SJd7PRQ


Watch Video Solution

10. A box contains 90 discs which are

numbered from 1 to 90. If one disc is drawn at

random from the box, find the probability that

it bears a number divisible by 7.

Watch Video Solution

11. A box contains 90 discs which are

numbered from 1 to 90. If one disc is drawn at

https://dl.doubtnut.com/l/_zbTQ6SJd7PRQ
https://dl.doubtnut.com/l/_BYolzbfKo6xU
https://dl.doubtnut.com/l/_alGcLj6Ikpzt


random from the box, find the probability that

it bears a number divisible by 5 .

Watch Video Solution

12. A box contains 90 discs which are

numbered from 1 to 90. If one disc is drawn at

random from the box, find the probability that

it bears a prime number less than 30.

Watch Video Solution

https://dl.doubtnut.com/l/_alGcLj6Ikpzt
https://dl.doubtnut.com/l/_qsv8rHNJN8TI


13. A box contains 3 blue, 2 white and 4 red

balls. If A ball is drawn from the box what is

the probability that the ball is not white.

Watch Video Solution

14. A bag contains 5 red balls and some blue

balls. If the probability of drawing a blue ball

from the bag is thrice that of a red ball, find

the number of blue balls in the bag.

Watch Video Solution

https://dl.doubtnut.com/l/_xhA3OfHDttHz
https://dl.doubtnut.com/l/_IuhzZRmhKbqL


15. Find the probability of getting 53 fridays in

a leap year.

Watch Video Solution

16. Three unbiased coins are are tossed

simultaneously. Find the probability of getting

at least two heads.

Watch Video Solution

https://dl.doubtnut.com/l/_IuhzZRmhKbqL
https://dl.doubtnut.com/l/_1RMKm6Wtfnyw
https://dl.doubtnut.com/l/_UOBW8ztFcRSO
https://dl.doubtnut.com/l/_gZVLZpFrtrIX


17. Three unbiased coins are are tossed

simultaneously. Find the probability of getting

exactly two heads.

Watch Video Solution

18. Three unbiased coins are are tossed

simultaneously. Find the probability of getting

at must two heads.

Watch Video Solution

https://dl.doubtnut.com/l/_gZVLZpFrtrIX
https://dl.doubtnut.com/l/_nZoeSPeTzrxK


19. Two dice are thrown simultaneously. What

is the probability of getting 9 as sum of two

numbers that turns up.

Watch Video Solution

20. Two dice are thrown simultaneously. What

is the probability of getting The sum of two

numbers that turns up greater that 9.

Watch Video Solution

https://dl.doubtnut.com/l/_vOfIZpkVWzMY
https://dl.doubtnut.com/l/_gFtiODISavav
https://dl.doubtnut.com/l/_euJ6R2I93ciz


21. Two dice are thrown simultaneously. What

is the probability of getting The sum of two

numbers that turns up less than 9.

Watch Video Solution

22. Two dice are thrown simultaneously. What

is the probability of getting a doublet.

Watch Video Solution

https://dl.doubtnut.com/l/_euJ6R2I93ciz
https://dl.doubtnut.com/l/_zV8jcUYMbz8X


Exercise

23. What is the probability that the two

friends have the same birth day.

Watch Video Solution

24. What is the probability that the two

friends have different birth day (ignoring a

leap year).

Watch Video Solution

https://dl.doubtnut.com/l/_e5mn8aLzaBWM
https://dl.doubtnut.com/l/_i0eLIGrqP2vP


1. a number is selected from 1,2,3,....,15. what is

the probability that the number is a multiple

of 4

Watch Video Solution

2. if a letter is chosen at random from the

'SECONDARY' what is the probability that it is a

vowel.

Watch Video Solution

https://dl.doubtnut.com/l/_sqqBw8wFR67s
https://dl.doubtnut.com/l/_lMj0LZdHP5nj


3. if a letter is chosen at random from the

'SECONDARY' what is the probability that it is a

consonant

Watch Video Solution

4. a die is thrown once. What is the probability

of getting an even number

Watch Video Solution

https://dl.doubtnut.com/l/_OiyQNQzlJDSc
https://dl.doubtnut.com/l/_8xd6wFyCEOSC


5. a die is thrown once. What is the probability

of getting a number greater than 3.

Watch Video Solution

6. A bag contains 9 black balls and 12 white

balls. one ball is drawn at random. what is the

probability that the ball drawn is a black ball.

Watch Video Solution

https://dl.doubtnut.com/l/_sy0GX5hZ4Vqq
https://dl.doubtnut.com/l/_NbOslnjS7EOE


7. a lot consist of 100 ball pens of which 16 are

defective and others are good Subhana will

buy a pen if it is good but will not buy if it is

defective the shopkeeper draw one pen at

random and given to her what is the

probability that she will buy it

Watch Video Solution

8. a lot consist of 100 ball pens of which 16 are

defective and others are good Subhana will

https://dl.doubtnut.com/l/_BayV2MvKJopn
https://dl.doubtnut.com/l/_3Q6gTlfGTFK1


buy a pen if it is good but will not buy if it is

defective the shopkeeper draw one pen at

random and given to her what is the

probability that she will not buy it.

Watch Video Solution

9. A carton consist of 100 shirt of which 88 are

good, 8 have minor defects and 4 have major

defects. Jimmy, a trader will only accept the

shirt which are good, but Sujatha another

trader will only reject the shirt which have

https://dl.doubtnut.com/l/_3Q6gTlfGTFK1
https://dl.doubtnut.com/l/_Y5nxHlSs02Ak


major defect. 1 shirt is drawn at random from

the carton what is the probability that

acceptable to Jimmy

Watch Video Solution

10. A carton consist of 100 shirt of which 88

are good, 8 have minor defects and 4 have

major defects. Jimmy, a trader will only accept

the shirt which are good, but Sujatha another

trader will only reject the shirt which have

major defect. 1 shirt is drawn at random from

https://dl.doubtnut.com/l/_Y5nxHlSs02Ak
https://dl.doubtnut.com/l/_lwFmwT4dQ6CD


the carton what is the probability that it is

acceptable to Sujatha

Watch Video Solution

11. a bag contains ticket number 11,12,....,30. it is

taken out from the bag at random find the

probability that the number on the drawn

ticket it is is multiple of 7

Watch Video Solution

https://dl.doubtnut.com/l/_lwFmwT4dQ6CD
https://dl.doubtnut.com/l/_ATgsNJaKpbRV


12. a bag contains ticket number 11,12,....,30. it is

taken out from the bag at random find the

probability that the number on the drawn

ticket is greater than 15 and multiple of 5

Watch Video Solution

13. cards marked with 3,4,5,....,50 are placed in a

box and mixed throughly. one card is drawn at

random from the box find the probability that

number on the drawn card is divisible by 7

https://dl.doubtnut.com/l/_oFTx2j2zk3sE
https://dl.doubtnut.com/l/_8qYCPLqhbQXk


Watch Video Solution

14. cards marked with 3,4,5,....,50 are placed in a

box and mixed throughly. one card is drawn at

random from the box find the probability that

number on the drawn card is number which is

a perfect square

Watch Video Solution

15. cards marked with numbers 1, 2,3,.....,25 are

placed in a box and mixed thoroughly and

https://dl.doubtnut.com/l/_8qYCPLqhbQXk
https://dl.doubtnut.com/l/_uXIWUVQu8zGL
https://dl.doubtnut.com/l/_LmDMgGk8cJmm


card is drawn at random from the box what is

the probability that the number of the card is

a prime number

Watch Video Solution

16. cards marked with numbers 1, 2,3,.....,25 are

placed in a box and mixed thoroughly and

card is drawn at random from the box what is

that the number of the card is a multiple of 3

or 5

Watch Video Solution

https://dl.doubtnut.com/l/_LmDMgGk8cJmm
https://dl.doubtnut.com/l/_si6jhZtmDqj6


17. cards marked with numbers 1, 2,3,.....,25 are

placed in a box and mixed thoroughly and

card is drawn at random from the box what is

that the number of the card is an odd number

Watch Video Solution

18. cards marked with numbers 1, 2,3,.....,25 are

placed in a box and mixed thoroughly and

card is drawn at random from the box what is

https://dl.doubtnut.com/l/_si6jhZtmDqj6
https://dl.doubtnut.com/l/_RT5pWYgipcAt
https://dl.doubtnut.com/l/_RQCQoD92TXhR


the probability that the card is an odd number

neither divisible by 5 or by 10

Watch Video Solution

19. A bag contain 4 red balls 5 black balls and 6

white balls. if one ball is drawn at random find

the probability that the ball drawn is white

Watch Video Solution

https://dl.doubtnut.com/l/_RQCQoD92TXhR
https://dl.doubtnut.com/l/_b8u9H472B2Tu


20. A bag contain 4 red balls 5 black balls and

6 white balls. if one ball is drawn at random

find the probability that the ball drawn is red

Watch Video Solution

21. A bag contain 4 red balls 5 black balls and 6

white balls. if one ball is drawn at random find

the probability that the ball drawn is not black

Watch Video Solution

https://dl.doubtnut.com/l/_XZ2jL1rafSa9
https://dl.doubtnut.com/l/_xmZpJqysSWRN
https://dl.doubtnut.com/l/_ixhaL8dH7bIR


22. A bag contain 4 red balls 5 black balls and

6 white balls. if one ball is drawn at random

find the probability that the ball drawn is red

or white

Watch Video Solution

23. a bag contains 7 red 5 white and 3 black

balls. A ball is drawn at random from the bag

find the probability that the drawn ball is red

or white

Watch Video Solution

https://dl.doubtnut.com/l/_ixhaL8dH7bIR
https://dl.doubtnut.com/l/_yrDUsc3V1cuc


24. a bag contains 7 red 5 white and 3 black

balls. A ball is drawn at random from the bag

find the probability that the drawn bell is not

black

Watch Video Solution

25. a bag contains 7 red 5 white and 3 black

balls. A ball is drawn at random from the bag

https://dl.doubtnut.com/l/_yrDUsc3V1cuc
https://dl.doubtnut.com/l/_AKoTwOdlcyyO
https://dl.doubtnut.com/l/_MpefMRwmzETq


find the probability that the drawn bell is

neither white nor black

Watch Video Solution

26. A bag contains red balls and some blue

balls. If the probability of drawing a blue ball is

double that of a red ball, determine the

number of blue balls in the bag.

Watch Video Solution

https://dl.doubtnut.com/l/_MpefMRwmzETq
https://dl.doubtnut.com/l/_kgZC8aN9t04f


27. A bag contains 5 red balls and some Blue

balls if the probability of drawing a blue ball

from the bag is four times that of a red ball

find the number of blue balls in the bag

Watch Video Solution

28. find the probability of getting 53 Sundays

in a leap year.

Watch Video Solution

https://dl.doubtnut.com/l/_ijDPM5JEFVqf
https://dl.doubtnut.com/l/_vJL0mlo6KWF4
https://dl.doubtnut.com/l/_tq176keyf2V4


29. Two coins are tossed simultaneously. Find

the probability of getting exactly one head.

Watch Video Solution

30. Three unbiased coins are are tossed

simultaneously. Find the probability of getting

exactly two heads.

Watch Video Solution

https://dl.doubtnut.com/l/_tq176keyf2V4
https://dl.doubtnut.com/l/_MR2x1IHa6eWb


31. two unbiased coins are tossed

simultaneously find the probability of getting

exactly two tails

Watch Video Solution

32. two unbiased coins are tossed

simultaneously find the probability of getting

exactly one tail

Watch Video Solution

https://dl.doubtnut.com/l/_1RdIG4dNlxS3
https://dl.doubtnut.com/l/_MW7QmYsOd6PY
https://dl.doubtnut.com/l/_oSis9Mpi4UkX


33. two unbiased coins are tossed

simultaneously find the probability of getting

at least one head

Watch Video Solution

34. two dice are thrown simultaneously find

the probability of getting the sum greater

than or equal to 10

Watch Video Solution

https://dl.doubtnut.com/l/_oSis9Mpi4UkX
https://dl.doubtnut.com/l/_WCxxMZfelfuR
https://dl.doubtnut.com/l/_AkxTQ6jbP3l7


35. two dice are thrown simultaneously find

the probability of getting the sum as an odd

number

Watch Video Solution

36. two dice are thrown simultaneously find

the probability of getting a number greater

than 4 on each die

Watch Video Solution

https://dl.doubtnut.com/l/_AkxTQ6jbP3l7
https://dl.doubtnut.com/l/_SPbOxKhtK9Vn


37. two dice are thrown simultaneously find

the probability of getting total at most 5

Watch Video Solution

38. two dice are thrown simultaneously

complete the table.

Watch Video Solution

https://dl.doubtnut.com/l/_SksZFMWVLaFC
https://dl.doubtnut.com/l/_kLsHe0P5HwPr
https://dl.doubtnut.com/l/_E6BuPwwRUqEU


39. it is given that in a group of 3 students the

probability that 2 students are not having the

same birthday is 0.992. what is the probability

that the two students have the same birthday.

Watch Video Solution

40. A card is drawn at random from a well-

shuffled Deck of 52 cards find the probability

that the card drawn is a king or a Jeck

Watch Video Solution

https://dl.doubtnut.com/l/_E6BuPwwRUqEU
https://dl.doubtnut.com/l/_83jkkXPVVdX3


41. A card is drawn at random from a well-

shuffled Deck of 52 cards find the probability

that the card drawn is non ace

Watch Video Solution

42. A card is drawn at random form of will

shuffled Deck of 52 cards find the probability

that the card drawn is red card

Watch Video Solution

https://dl.doubtnut.com/l/_lrk2iyH8kgQv
https://dl.doubtnut.com/l/_HTRYSp9j0wWK
https://dl.doubtnut.com/l/_IH3GYc3epAfy


43. A card is drawn at random from a well-

shuffled Deck of 52 cards find the probability

that the card drawn neither a king nor a

queen

Watch Video Solution

44. the king queen and jack of diamond are

removed from a pack of 52 cards and the pack

is well shuffled. a card is drawn from the

remaining cards. find the probability of

getting of a diamond

https://dl.doubtnut.com/l/_IH3GYc3epAfy
https://dl.doubtnut.com/l/_zUQkswP9DsPR


Watch Video Solution

45. the king queen and jack of diamond are

removed from a pack of 52 cards and the pack

is well shuffled. a card is drawn from the

remaining cards. find the probability of

getting of a Jack

Watch Video Solution

https://dl.doubtnut.com/l/_zUQkswP9DsPR
https://dl.doubtnut.com/l/_cRO3XNtnK1ZK


46. All the three face cards of spades are

removed from a well shuffled pack of 52

cards.A card is drawn at random from the

remaining pack find the probability of getting

a black face card

Watch Video Solution

47. All the three face cards of spades are

removed from a well shuffled pack of 52

cards.A card is drawn at random from the

https://dl.doubtnut.com/l/_TdlHn3D9Z7AO
https://dl.doubtnut.com/l/_M7Cpzdz6d4Qh


remaining pack find the probability of getting

are queen

Watch Video Solution

48. All the three face cards of spades are

removed from a well shuffled pack of 52

cards.A card is drawn at random from the

remaining pack find the probability of getting

a black card

Watch Video Solution

https://dl.doubtnut.com/l/_M7Cpzdz6d4Qh
https://dl.doubtnut.com/l/_hZp0cIUosN4U
https://dl.doubtnut.com/l/_wkLGUeU1mMyS


49. If P(E) =0.05, what is the probability of not

'E'?

Watch Video Solution

50. A die is thrown once, find the probability of

getting a number greater than 5.

Watch Video Solution

https://dl.doubtnut.com/l/_wkLGUeU1mMyS
https://dl.doubtnut.com/l/_ZBFmmYGUp07W


51. a card is drawn from a well shuffled pack of

52 cards. what is the probability that it is an

ace.

Watch Video Solution

52. two friends were born in the year 2000.

what is probability that they have the same

birthday.

Watch Video Solution

https://dl.doubtnut.com/l/_wCZCqdzM2Gtt
https://dl.doubtnut.com/l/_f5XT8LFPxmwW
https://dl.doubtnut.com/l/_EthdS3g82S8a


53. a boy contains cards marked with numbers

5 to 20. A card is drawn from the bag at the

random. find the probability of getting a

number which is a perfect square.

Watch Video Solution

54. The probability of a sure event is _____

Watch Video Solution

https://dl.doubtnut.com/l/_EthdS3g82S8a
https://dl.doubtnut.com/l/_uC5xfSdp5WWU


55. fill in the blanks 

the probability of null event is ...........

Watch Video Solution

56. fill in the blanks 

Watch Video Solution

P (E) + P( ¯̄̄E) = .......

https://dl.doubtnut.com/l/_vdhwFdWSpXrM
https://dl.doubtnut.com/l/_FR2xH4a7MgBB


57. fill in the blanks 

total number of face card in a pack of 52 card

is ..........

Watch Video Solution

58. fill in the blanks 

the probability that a number selected at

random from number 3, 4, 5,...25 is a prime

number is ........

Watch Video Solution

https://dl.doubtnut.com/l/_wMi0e5NnNX8O
https://dl.doubtnut.com/l/_GTy5GOhhczVh


59. Two dice are thrown simultaneously. What

is the probability of getting a doublet.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3

5

1

6

6

7

5

6

https://dl.doubtnut.com/l/_GTy5GOhhczVh
https://dl.doubtnut.com/l/_YEfSvAbh6dju
https://dl.doubtnut.com/l/_XTEaQtZd1fcX


60. the probability of getting a Rotten mango

from a lot of 250 is . the number of

rotten mango in a lot is

A. 12

B. 9

C. 21

D. 15

Answer:

Watch Video Solution

0.048

https://dl.doubtnut.com/l/_XTEaQtZd1fcX


61. which of the following cannot be

probability of an event?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

4

−1.8

20 %

0.7

https://dl.doubtnut.com/l/_Q1pVxdrqRJjY
https://dl.doubtnut.com/l/_t1Dwv1lRth0W


62. in tossing 3 coins, the probability of

getting at least 2 tails is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

2

1

3

5

6

1

4

https://dl.doubtnut.com/l/_t1Dwv1lRth0W


63. A number is selected from numbers 1 to 25.

The probability that it is prime is ____

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4

25

6

25

1

5

9

25

https://dl.doubtnut.com/l/_B49HJoV7ONBp

